Proc Fice Gouig

Name: /ﬂ.‘k)c)/ A/c}/

Evaluate each expression. Calculators are not allowed.
At least 9 must be correct for any credit. Allowed time: 10 minutes.

1. %(—4cos(9t)) = 36 s51n 9+

QQ
- sS ~&€s + 5
a (s+3 ) _
2 ds(32+5.) - (S.L*s.)‘.
(write as a fraction with simplified numerator)

3. L(62°+322+42+5)= ~18x +6x+4
d —3r\ _ -3x

4. (4e7>%) = -~12e

5. £(8In(3x)) = Z

6. L (2tan(5z)) = /0 sec® £

7. %(ln(cos(&n))) = ~ 34an 3x
8. L(4sin(2r)) = cos2r

9. £(e¥sin(5y)) = e_y(sm Sy + $cos 5y )

dy
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10. < (tan~'(5t)) =



